Rang Nr.
1. 17
2. 18
3. 15
4. 12
5. 11
6. 2
7. 14
8. 9
9. 1

10. 5
11. 16
12. 3
13. 10
14. 7
15. 4
16. 8
17. 6

Paarturnier - Luzern - 25.11.2024

Ergebnis (50 % =182.0 MP)

Paar
Schoahs, Grazyna — Kiillstrom, Curt
Senn, Maria — Schipper, Isaak
Bendel, Beatrice — Winter, Vreni
Smith, Craig — Wehrli-Wyss, Cristine
Walter, Marlise — Zingg, Erika
Bilar, Pedro— Nadrai, Marie-Antoinette
Gisler, Meggi — Filali, Renata
Wespi, Marlise — van Exel, Wendela
Schonenberger, Nada — Beylemans, Francis
Heuri, Silvia— Bretscher, Hedi
Kuhn, Monica — Schilt, Carla
Beylemans, Rita— Briner, Maya
Schir, Rita — Furrer, Ursula
Wigdorovits, Jutta — Burlet, Marianne
Wiist, Annamarie — Zoller, Marion
Egli-Kessler, Ursula — Inger, Janson
Roth, Rita — Gridel, Heidy

Turnierleitung: Maria
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